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For each question from 1 to 30, four options are given. One of them is the correct answar,
Make your choice and shade the correct oval (1, 2, 3 or 4) on the Optiéal Answer Sheet.

{80 marks)

1 Four similar pieces of wax, A, B, C and D, were stuck to a metal ruler as shown
- below,

The metal ruler was heated at the position shown above, Which one of the
following shows the correct order in which the pieces of wax would. melt?

— )
2
)
@

A BCD
B,C,D,A
B;A,C,D
D,CAB

{Go on to the next pags)
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The ball and ring apparatus shown In the diagram bslow were made of the same

material,

At room temperature, the ball was unable to pass through the ring. After the ring was
heated for five minutes, the ball was abie to pass through the ring.

Which one of the following best explains this obsarvation?

The Ball

The Ring
™ remained the same size contracted
-2 .. -contracted. . expanded .
(3)' remained the same size expanded
4 ‘ expanded » remained the same size

(Go on to the next page)”
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The graph below shows how the length of Andy’s shadow changes over a period of

time as he walks in a straight line near a street lamp at night.
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Based on the graph above, ldentify whether Andy was walking towards or away from

~the-street lamp.
Period X Period Y
{1)- Away _Towards
{2) Away - Away
(3) Towards Away
{4) Towards Towards

(Go on to the next bage)



4 Keith wanted to find out the volume of the plasticine he has. He carried out the
following steps.
Step 1:  Place the plasticine In an emply measuring cylinder.
Step 2: Pour some water info a measuring cylinder until the plasticine is
completely submerged under the water.
Step 3:  Measure the volume displayed as reading 1.
Step 4:  Use a hook and remove the plasticine completely out of the
measuring cylinder. - _
Step5: Measure the volume.of water left In the measuring cylinder as
reading 2.
Wrat else shouid Keith do to obtain the volume of the plasticine?
{1)  Take reading 1 direclly.
{2)  Take reading 2 directly,
{3)  Take the sum of reading 1 and reading 2.
(4)  Take the differences bstween reading 1 and reading 2.

5 The diagram below shows the life cycle of a mosquito.

Based on the diagram only, which of the following statement(s) balow is/are true?
A Mosquito has-four-stages in its life cycle.
B The lifs cycle must start from the adult stage.
C The larva and pupa do not look like the aduit.

(1) - Aonly -
(2) Bonly
{3) AandConly

(4 ABandC

{Go on to the next page) .



6

() A
@ B
@ c
@ D

8

The diagram below shows the human digestive system.

Which part of the system (A, B, C or D} Is not working properly when there Is excess
water in the stool that Is passed out?

The func’ﬁori of the skeletal sg}stem is to support the body and give it its shape. Which
body system works directly with the skeletal sysiem to enable a human to move
about?.

(1) Muscular systems
{2) Digestive systems
(3) Circulatory systems

(4) Respiratory systems

(Go on to the next page)



The diagram below shows the different directions moved by fourmsfalbars A, B, C
and D of the same mass when Zack hung them on a pole. '

.

po!

After obsarving the interaction between the metal bars, Zack removed metal bars B
and C and moved A closer to D. The new interaction between metalbars Aand D is
shown below. ’

A D
Based on the interactions shown, which metal bars are most flkely to be magnets?

(1) B and C only
(2) CandD only
(3) B,CandDonly
(4) AB.CandD

(Go on to the next page)
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8

Arzah wanted to find out whether the number of batteries connecied In serles affects
the magnetic strength of an electromagnet.
battery
AN
. i a
/AR, WA
iron rod Set-up A Set-up B
i grmames]]
20 colis of wire ] - bof wire

Set-up C Set-up D

Which two set-ups should Arzah use so that he can conduct a fair test?

(1) AandB
(2) AandD
(3) BandC
(4 CendD

(Go on to the next page)



10 "The circuit card shown below has a metal thumbtack at each of the points A, B, G, D
and E. Some of the thumbtacks are connected by wires bahind the card. The two
ends of the circult tester are connected to two different thumbtacks each tme and the

resuits are.tabulated as shown.

circult tester

Circuit tester connected | Does the buib
to light up?
AandB No
BanaC No
CandD Yes
- DandE Yes
circuit card _
EandA Yes

Which one of the following is a possible arrangemant of the wires, behind the circuit

_aatd?‘ :
I [X7))
@) @)

(Go on to the next page) |
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Study the four electric circuits A, B, € and D as shown below. The bulbs and the
batteries in the four electric circuits are-identical and in working conditions. All the

bulbs in the four electric circuits it up.

It

Circuit A

Clcuit B

il

- -Circut G -

j—

- . CircuitD -. -

the dimmest to the brég‘hte;t?
() ALCBD

) ADBC

(3 C,ADB

&)

C,B,D,A

‘Which one of the following correctly shows th;_bﬁghmess of the bulbs arcangea from

{Go on to the next ﬁage)
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42 Melvin set up the circuit shown below. At first, the Identical bulbs, A, Band Clitup to
the same level of brightness.

* He then removed bulb A from the bulb holder. What will happen.to the brightness of
bulbs B and C now?

(1} Both bulbs B and C will not it up.

(2)  Both bulbs B and C will be as bright as before.

(3) Both buibs B and C will. become brighter-than bafore.

4 Buib B will become brighter while bulb C remalns the same.

(Go on to the next page)
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Which of the following statements describe safe practices when using electrical

appliances? ,
A Touch ths switches with sweatly hands,
B Plug only one eleclrical appliancs into a singla socket
C Replace slectrical appliances that are having exposed wires.
‘D Getatrained electrician to repair faulty slectrical appliances.
(1) AandBonly
© {2) " Aand C only
{3) A BandConly
@y 8 CandDonly

The circuits below has an iron rod, a wooden rod and a plastic rod as components of
each cirouit

circuit A

circuit C

The bulbs and the batterles in the three slectric circuits are identical and in working
conditions. In which of the above circuits would the bulb light up?

(1)
(2
3

@

A only
C only

A and B only
None of the circuits -

{Go on to the next page)
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The table below shows the characteristics of anlmals X, Y and Z.

Characterlstics X | Y | Z
Has scales? No No No
Lives on land? No ] “Yes Yes
Lays eggs? Ves | Yes Yes
Has wings? Yes Yes No

- Based on the information above, which one of the following éorreeﬂy aescﬁbéé

animals X, Y. and Z?

N
{2)

3

)

Only Y and Z lay eggs.

Only X and Z have wings.
Only 'Y and Z have scales.
Only Y and Z live on land.

Which one of the statements below is true about fungi?

M
2)

@)

“)

. Fungi contain chlorophyll.
Fungl reproduce through spores.

Fungi reproduce through seeds and spores.
Fungi are plants and can meke their own food. o -

(Go on to the next page)
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17 In an experiment conducted, it was found that Plant X moves towards the light.
Based on the picturs below, which one of the statements bslow is frue sbout Plant X
as a living thing?

= e OpBNing
box

Plant X

well

watered soll
(1)  Plant Xis wilting.

(2) Plant X needs air.
(3) Piant X needs water.
{(4)  Plant X responds to changes.

(Go on to the next page)
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Alvin wanted to find out if ight Is needed for mould to grow on the bread.

Which two sst-ups should he use?
(1) AandD

2) AandC

(3 BandD

(4) - CandD

A rock was used to scratch on 4 surfaces. The restilts obtained are recorded in the
table below. Based on the information given only, determine which material(s) isfare
harder than the rock.

Surface | Is Surface A/B/C/D seratchod by the rock?
A Yes
B Yes
C : No
D No

(’f) - Aénd é.only

2 C and D only
(3} A BandConly
(4) B,CandDonly

{Go on-to the next page)
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20 The diagram below shows iwo flowers of the same plant.

If the arrows were to indicate the mavement of pollen grains, which two arrows
correctly show the process of pollination taking place?

(1)
)
3)
“)

AandB
AgndD
B-and G

CandD

(Go on to the next page)
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John wanted {o find out if sunlight Is necessary for the germination of seeds. .
He prepared two set-ups with the conditions shown in the table balow.

Conditlon ~Setup A Set-up B
{ Suniight present Absent
Alr present Present
(Water omi 700 mi
Surrounding T30 28°C
Tomperature {°C)

Based on the data given, John's teacher told him that he had not conducted a fair
test. Which of the following should John do to ensure a fair lest?

Air should be absent In Set-up A,

Water should be 50 ml in Set~up A.

Water should be 100 mi in Set-uip A,

Surrounding temperature should be at 28°C in Set-up A,

O 0w >

1) AandBony . .
() BandConly

3) C and D only

(4) A CandDonly

_ {Go on to the next page)
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22  Which one of the the following corrsctly shows the sequence involved in the sexual

23

Seed

Pollination

Ferlilisation

P

/"

reproduction of flowering plants?
- T ® —
/ Fertilisation \ / Ferﬁlisaﬁon | \ .
Germination Seed Pollination | | Germination
~N 5é;nxﬁﬁatioh - N Seed. 4
) | " @
/J Germinationv \ Pollination

\

Seed

Gennination

/

NI Fertiisation

.

Jim found three flowers growing on the same plant that are Identical in size. He
tabelled the flowers A, B and C. Flower A had its petals removed, flower B had its
stigmas removed and flower C had its anthers removed. The flowers were left intact
ontheplant.

Which flower(s) is/are unable to develop into fruits at all?

(1) Aonly

(2) Bonly

(3) AandBonly

(4) A BandC. ..

{Go on {o the next page)
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24  Observe the seediing X below carefully.

seed leaves

. ’ : .
2 weeks later’

Seedling X at one week old Seedling X at thres weeks old

Which of the following statements isfare comect?
A Both:seedlings are unable to carry out photosynthesis.
B Only Seedling X at three weeks old takes in water through its roots;
C _ Only Seedling X at one week old obtains food from the seed leaves.

{1  Aonly -
{2) Bonly ' _
" (3 Conly

4) AandConly

25 Which ona of the foliowing plant parts has the similar function as the sperm of

animals?

(1) ~ Anther
(3) Polien
(4) Stigma

{Go on to ths next page)
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Answer Questions 26 and 27 based on the diagram below.

The diagram below shows a plant cell with labelied parts A, B, C, Dand E

Which one of the following best describes the function of part C?

N
)
(3)
{4)

Controls all the activities of the call

Supports a plant cell and gives it a regular shape

Coitrols the movement of substances In and out of the cell
Absorbs light ensrgy needed by the plant for photosynthesis

Which of the parts, A, B, G and D; will not bs pressnt in an animai cell?

(1)

2

(3)
{4)

A-and."B h

Aand D
BandC
CandD

(Go on to the next page)
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Some pupils observed two groups of cells under a microscope. The dlagram below
shows what they observéd.

Which of the following statement(s) about the celis is/are most likely correct?

w

)
(3)
)

Cails Y are animal cells as they have cyloplasm,

Ceils Y are plant cells as they have regular shape. -
Cells X and Y are animal calls as they have nucleus,

Cells X are animal cells as they do not have a cell wall.

oo w >

A only

B and D only
Aand D only
B-and C only

{Go onto the next page) -
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Study ths diagram below. Which of the following statement(s) is/ars true about what
is happening In the procass represented by the diagram bslow?

1

@

&)
)

Sperm cell

Egg cell -

Only one sperm cell will fuse with the egg.

More than one sperm cell will fuse with the egg.

This process happens In the stomach of a woman’s bady.
Fertilisation will not take place as the tails of the sperm cells are
outsids the egg csall,

OO0 w»

A only

AandB oniy
A and C only

Which of fhé foliowing statements about sexual reproduction in both animals and'
plants are true?

1)

@

(<)
(4)

A Fertilisation needs to occur.

B The male sex cell fuses with the egg.

€ The eggs are released from the ovules.

D The male and female sex cells are required.

A and B only

‘BandDonly .-

A, B and D only
A B CandD

End of Booklst A
Pleass go to Booklet B
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2

For questions 31 to 44, write your-answers in thé spaces provided.
The number of marks available is shown in brackets [ } at the end of each guestion or part
quostion. A {40 marks)

31 Andy studied ths life cycle of flowering plant X."He planted the seed in the sofl and
recorded the number of days for each stage of ils Hife cycle. The plant Is-In the
seediing stage once the seed germinates and It is in the adult stage once tha plant
produces flowers. His resulis are shown In the grapiy below. :

Iy S S
55 fooim Do sl et e e e e
1.3 -
25 et e —— s e e s st 5 e e b v o
a0 T NN - -
35 N - - NS
Number B -
of days a5 ..
. .
1% - W
b1 N— '
=
) - :

Seed Seeding Aduit

{a) - Based on Andy's result, how many days does it take for plant X to germinate. -~ = -
after being planted Into the soll? 1

- {(b) Basedon Andy’s result, how many days does it take for plant X to produce
flowers after it germinates? 1

{c) Plant X produces over a hundred seeds each time. What is the reason for
producing many seeds? : : [1]

(Goon to the next page)

Scors -
3
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Bobby wanted to find out if the size of food affects the speed in which the body
digests It. He placed a 500g meatbali into baaker X containing chenical P which
digests meat. In beaker Y, he broke up an identical size of meatball into several
smaller round pleces before placing them in chemiical P,

meatball
chemical P
beaker Y ‘
{a)  Which of the following variables should 8&&7 keep the same? 1]

Complete the table below by putting a tick (v} in the corract box{es) only.

~ Variables ‘ Keep the same

Size of beaker

Mass of meatball

Volume of chemical P

Temperature of surrounding

. | Exposed surfacé areaof meatball -

The meatball in beaker X is siill present when the meatball in beaker Y is already

digested completely.. . » o ‘
{b}  Explain how breaking up the meatball into several smaller pleces helps to
digest the meatball faster. 1

(c)  Which part of the human digestive system has the ability to break up food into
smaller pleces to help us digest it faster? 1

{Goonto the nextﬁe)
l Score l a
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"33 Six bar magnets with thelr ends marked A to L ¢an be arranged as shown below.

K L
J
Hl
-{a)  If end marked A Is a North pole, L - 2t
{i) The end marked E will be : pole
{il) The end marked L wii ba ;. pole
The diagram below is an iton rod with two ends X and Y.
{b)  Using the North pole of a bar magnet, how can you determine whether this
iron rod Is a magnet? 2]
" {Go.on o the.next page)

Score

4
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The diagram below shows ons bulb and three batteries.
Using a pencil, draw lines representing wires to complete the electrical circuit such
. that the bulb will Hght up the brightest. [2]

SO

(Goon tb the next pags)
S
' oore. ' Z‘



35 The diagram below shows a diagram of an electrical circult.

In the box bsalow, draw a circuit diagram in pencif that represents the above olectrical
ciroult. Your diagram must include all the electrical components In the same
arrangement as shownin the dlagran above. (Note: the switch s close) 3]

(Go on to the next page) g

Score

3
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Study the electrical circuit below. The batteries and bulbs ars all n good working

condlfion.

State the number of bulb(s) that would still remain Jit when the listed bulb{s) is/are

fused.

7

A ég il

B C

-

E

®

F

&

Buib{s) that is/are fused

Number of buib{s) remain lit

A

B

T Band D

EandF

(2}

(To onto thT nexty}e)

QAnrEn
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Jay set up an electric circult as shown in the diagram below. The buzzer is an
electrical component that produces sound when eleciricily passes through it.

— buzzer

When the switch was closed, the bulb lighted up and the buzzer so_uniia‘d. Aftera
while, the bulb fused and the buzzer stopped sounding.
(a)  What kind of arrangement are the electrical components arranged in? . [1]

(b)  Although the buzzer was not damaged, why did it stop sounding after the bulb
fused?

Jay replaced the fused bulb with a new bulb and now he used his slectric circuit to
build a buzzer game as shown in the d:agram beiow He made a toop which is used

" o go rouind & coll of wiggly Iron wire,

{c}  Theloop acls as a switch In the clreyit shown above and when the iron loop
touches the wiggly iron wire, the bulb hghts up and the buzzer sounds.

Explaanthisobsewaiton L T i o _-3_"'.',[2']'-‘

... {Go on to the next page)

Score
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Lily leamt that a string is more elastic if it can be stretched longer, She wanted to find

out the elasticity of four different types of materials. She stretched four strings of the

same length and thickness but made of different types. of materials using the same

strength. She measured and recorded the increase In length of each string in the
table below. |

String made of Increass In length
matetial {om)
A ' 2
- ——
v 8
D 5

{a) From the results in the table above, which is the most elastic string? (1

Another string which was thicker than the other strings and made of material
E was streiched using the same strength.’ ftincreased by 5 cm.

(b) Why was the expsriment conducted with material E not a fair test? {1l

{Go on to the next page)
l Score { /l
)
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39 The following diagram shows organism W. It is a single-celled organism that Is
. us:.za!ly found moving on the surface of the fresh waler pond.

Organism W

nucleus

" tailike
structure

(») Based on the diagram above, is Organism W a plant ceii or an anlmal cell?

' Give a reason for your answer. : | f1]
(b)  State one possible way by which the organism obiains its food. [1]
(c)  Whatis the function of the tail-like structure of organism W? (1)

(Go on to the next page)

Score
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Tony observed a hummingbird fiying hear flower X trying to collect nectar from it. He
concluded fhat the bird can help in pollination of the flower.

{a) Explain how the hummingbird éan help in the poliination of the flower. 2}
The table below shows 4 plants with different characteristics.
-| Plant | Are the potals. | Does the plant Doesthe- - “Are the -

farge and have a pleasant |{ plant produce | fllaments long?
colourful? ‘small? nectar?

A Yes . No Yes “No

B No No No Yes

C Yes No No Yes

D No Yes Yes No

(b) Which of the following plant(s) is/are most likely pollinated by hummingbird? [1]

{Go on to the next page)
Score " a
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Fiona carried out an experiment using four identical fruits, W, X, Yand Z. She
subjected each fruif to différent tempsratures because she wantad to find otit how the
surrounding temperature affects the splitting of the fruit. The results were recorded in
the table below.

Z splits
‘responds tothe | notspit | after1day | efter 3 after 2
femperature hours tours
“How far the . '
seeds are - 1m 25m 35m
scattered

{a})  From the above resuits, what can you conclude about the effect of
terperature on the time taken for the fruit to split? [2}

) @ What is the édvaniage of having sesds scattered further away from one

another? 1]

B (Go on to the next page)

Scors
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Victor found frult A, in his school's garden as shown in the diagram below. He
decided to investigate if the wing-like structure affects the time taken for the fruit to
reach the ground. He droppsd the frult from a height of sight metres and recorded
the time taken for fruit A to reach the ground. He prepared the same fruit of similar
slize but with its wing-like structure cut-off as shown below and called Itfruit B. He
then dropped frult B from a helght of eight metres and recorded the time taken for
fruit B to reach the ground.

A -8
Tims taken for the fruit fo reach the ground
Fruit A » 20 Mds
. FruitB 18.5 seconds

{a) o Why did met A taka 8 longer tlme to reach the ground?

. ‘mi. _

Give a reason for your answer.
From his resuits, Victor concluded that fruit with wing-like structure will take a
longer ime 1o reach the ground compared to a frult with no wing-like structure.
{b)  What should Victor do to make his results more reliable? i1

{Go on to the next page)
[ Score l ﬂ
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43  The table below shows the average gestation period of 4 animals,
The gestation perlod of an animal is the number of days an animal needs o develop
from fertilisation to its birth,

{a)  Whatis the relationship between the mass of the animal and its average
gestation peried? [11

(b)  Based on the table above, If an animal X weighs 25 kg, what could be its
possible average gestation period? i1l
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44  MrLsong first obssrved and courited the numberof plants A and B on a plece of
land. After four months, he looked at the same place of land again, His final
observations are shown bslow.

River

Al a Flanta.
=1 ‘_‘,"‘-"_P!antB

{a) Read the statements below carefully and indicate whather each of the
statements below about Plant A and B is True or False.
Put a tick ( v' ) in the correct box.

2

Staternen_t True False

Plant A Is dispersed by water.

Plant A Is dispersed by wind.

| Plant Bis dispersed by water.

Plant B is dispersed by animals.

Observe Frult X carsfully.

(b) State its possible method of seed disperssl. Explain your choice. {2

" End of Booklet B

Check your answers carefully.

—l







Answer Key

EXAM PAPER 2015

SCHOOL : ACS

SUBIJECT : P5 SCIENCE

TERM : SA1
ORDER CALL: MR GAN @ 92998971 92475053 86065443

Qi Q2 Q3 Qa Qs Q6 Q7 Qs Q9 Q1o
3 3 3 4 3 4 1 1 3 4
Qi Q12 Q13 Q14 Qi5 | Q16 Q17 Q18 Q19 Q20
2 2 4 1 4 2 4 4 2 3
Q1 | Q22 | Q3. Q4. |.Q25 |. Q26. | Q27 Q8 | Q29 |- Q30.
3 i 2 3 3 1 2 2 1 3
31)a)10 days
b)50 days

c)To increases the chance of survival.

32)a)

V

V
v
v’

b)Breaking up the meat ball increases the exposes surface area.

c)Mouth and teeth.




33)a)i)South ii)South

b)Bring the North of a bag magnet nor both X and Y and check if X
or Y reply the bar magnet.

34)
;\1\
35)
—0—0—| ) |r
& —0— *
8

36)

oM FIO




37)a)They are arranged in series.
b)The circuit is open.

c)Both the wiggly wire and loop is made of conductors of
electricity when they touch, it will close the circuit or allow electricity
to flow. -

38)a)Material C.

b)No, the thickness is differents so it nota fair test.
39)a)Plant cell.

b)The cell makes itself food.

c)it is for movement.

40)a)The polle_h grains may get stuck on the hummingbird’s beak and
when it flys to another flower, the pollen grains can be shaken off on
to the stigma.

" b)AandQ.’
41)a)The warmer the temperature, the less tlme it takes for the fruit -

to split.

 b)The plants will not overcrowd and have a competition of
nutrients, water, sunlight and space.

42)a)lt has a wing-like structure that makes it glide.

b)He should carry out the experiment a few more times and
observe the results agam

B - 43)a)The heavier the anlmal the Ionger the gestatlon perlod is.

b)it could be 132 days.



44)a) v

J

b)Fruit X dispersed by wind because it is small and light.



